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Which of the following is NOT one of the three main Big Data processes?
Response:

A. Data Governance
B. Data Processing

C. Data Management
D. Data Visualization

Answer: D

Which capability of the Big Data Framework is focused on ensuring regulatory compliance and
maintaining data security?
Response:

A. Data Science

B. Data Analytics

C. Data Governance

D. Big Data Infrastructure

Answer: C

Which logical role in the NIST reference architecture is responsible for providing raw data for
processing?
Response:

A. Data Consumer

B. Big Data Application Provider
C. Data Provider

D. System Orchestrator

Answer: C
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Why is data governance critical in Big Data processes?
Response:

A. It automates data collection.

B. It eliminates the need for regulatory compliance.

C. It establishes policies for data security, quality, and usage.
D. It replaces the need for manual data analysis.

Answer: C

At which level of the maturity model are data analytics capabilities considered "ad hoc" and
uncoordinated?
Response:

A. Level 1 - Analytically Impaired
B. Level 2 - Localized Analytics

C. Level 3 - Analytical Operation
D. Level 4 - Analytical Enterprise

Answer: A
Question: 6
Why is the Big Data Framework important for organizations?
Response:
A. It replaces traditional IT infrastructure with cloud systems
B. It provides a roadmap for achieving Big Data maturity
C. It eliminates the need for data governance
D. It focuses only on the technical aspects of Big Data
Answer: B

How does knowledge representation support Artificial Intelligence?
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Response:

A. By creating databases for large-scale data storage

B. By structuring and organizing information for automated reasoning
C. By eliminating redundancy in data storage

D. By visualizing data patterns

Answer: B

Which of the following is a supervised learning algorithm?
Response:

A. Clustering

B. Regression

C. Correlation

D. Outlier detection

Answer: B

What is the primary purpose of the Agile Methodology pillar in the Big Data Centre of Excellence?
Response:

A. To ensure a linear project workflow

B. To enable iterative development and quick adaptation to changes
C. To automate data collection

D. To standardize all data governance practices

Answer: B

What does the System Orchestrator role in the NIST Big Data reference architecture primarily focus on?
Response:

A. Storing data in distributed systems

B. Managing workflows and operations across roles
C. Visualizing analytical outcomes

D. Designing predictive models
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Answer: B
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